Final Review6 (Spring 2017)-f18 December 3, 2018

5. A bi-plane flies 120 km [E62°S] and then 400 km [W].
What is the total displacement of the bi-plane from its starting point?
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7. A school bus travelled 15 km [N35°E] and then 7 km [S40°E].
Calculate total displacement for this trip.
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Find the resultant force of the forces: I_?; =250 N [N30°W] and E= 100 N [E22°8].
(Be careful with the angle on this one)
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10. A jetis travelling 580 km/h on a bearing of 065°. A 105 km/h wind is blowing [N15°E].
Determine the resultant speed and direction of the jet. Include a diagram.
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